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P3-6: ['LfN', 'NdN', "TsN', 'tgtLfN’, '‘prunLfN']
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P3-6: ['LfN', 'LfNT', "TsSN', "TSNT']
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P3-6: ['LfA', 'peakTgtLAI']
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P3-6 (plot by DAT)

® —-o
_ 1
_ 1
| SR
| Il -2
1 11
*. L
1 ||*_ 1
1 1 “
+~ 1 | I I I
¢ o l-—g1 ! *
b ] rn te
© I [ é
| “ “ “ ]
“ _r.w|l. N 4 A ¢
11 1
| M Lo I
! = L P
I > 11 1 | ©
le——@ F “ | lmmm e = |‘ .v__ ©
“ L @ 1)
I Lo P ¢
IIIIIII LIIII_TI_|IIIIIIIIIIIIa._.IIIII._.IIIIIIII
1 1 1 1
I | Sm——————- 4 I
I | _l. Iﬁ 1
“ " ®
“ I 9| I“-===9
1 1 I
1 [ .1 |
i B 1 |
1 1 11
! rﬂ I -9 -3
||||||||| 1 1
n JU Y
9 T ol I
Y (V2T N
‘e S|
g £ | [----®
1
1 1 1
1 o u_al
1 0 .*_
1 (0] 11
I £ | -----9
1 c 1
| I < I | ©
I N
1 [
I [
1 [
1 [
1 f————— P
1
1
1
1
1
1
! o
“ <
— d
I 8 to
e P
T T T T T T T T
o o o o o o o o
~ [(e] N < m N —

Buippng a1y sAeqg

Days After Transplant



P3-6 TsN1 (plot by DAT)
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P3-6 TsN2 (plot by DAT)
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P3-6 TsSN3 (plot by DAT)
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P3-6 TsN4 (plot by DAT)
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P3-6 TsN5 (plot by DAT)
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P3-6 TsSN6 (plot by DAT)
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P3-6 (plot by adjDAT)
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Days After Budding

P3-6 TsN1 (plot by adjDAT)
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P3-6 TsN2 (plot by adjDAT)
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P3-6 TsN3 (plot by adjDAT)
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P3-6 TsN4 (plot by adjDAT)
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P3-6 TsN5 (plot by adjDAT)
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P3-6 TsN6 (plot by adjDAT)
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Plot Env Data
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Plot [['sfTemp’, 'sfInit’, 'sfDev’, 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']
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Plot EnvOpt Decision
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